
<Please calculate as quickly as possible and without making any mistakes.>
/100 m s

13－5 = 3×9 = 3＋8 = 7＋1 =

4×8 = 2×7 = 10－7 = 9＋6 =

7＋3 = 3×9 = 8－3 = 5×8 =

3＋1 = 6＋3 = 6＋5 = 9＋7 =

8－7 = 3＋8 = 7＋1 = 13－5 =

3×9 = 6＋9 = 8－1 = 6＋6 =

9×2 = 1×8 = 3×7 = 8－7 =

11－6 = 5－4 = 9－5 = 11－6 =

2－1 = 3＋8 = 3×9 = 8－7 =

12－5 = 4＋2 = 5×9 = 5＋1 =

2－1 = 8－3 = 9×7 = 11－6 =

5－4 = 6×8 = 12－6 = 5×9 =

9－5 = 1×9 = 6×6 = 12－4 =

2＋9 = 5×2 = 8×8 = 5－4 =

8－4 = 6＋8 = 3×2 = 5×8 =

8×9 = 8－7 = 8－7 = 6×6 =

7×3 = 6＋6 = 5＋5 = 9－3 =

7×3 = 12－6 = 9－2 = 4×2 =

7×3 = 2＋1 = 11－6 = 11－3 =

5＋5 = 12－4 = 2＋2 = 5×9 =

10－7 = 7×3 = 2×5 = 6×8 =

9×2 = 6×3 = 7＋1 = 9＋6 =

1×8 = 15－7 = 13－5 = 3×9 =

6＋6 = 2×7 = 9×9 = 7－5 =

10－9 = 2×4 = 4×2 = 15－7 =

TIME:


